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Note : This paper is of eighty (80) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you understand by financial management ? 

Explain as to how the wealth maximisation objective is 

superior to profit maximisation objective ?  

foŸkh; izcU/k ls vki D;k le>rs gSa \ le>kb, fd fdl 

izdkj /ku dks vf/kdre djus dk mn~ns’; ykHk dks vf/kdre 

djus ds mn~ns’; ls Js”Brj gS \ 

2. What is dividend policy ? Explain the various factors 

determining the dividend policy of a company.  

ykHkka’k uhfr D;k gS \ mu dkjdksa dh O;k[;k dhft, tks 

,d dEiuh dh ykHkka’k uhfr dks fu/kkZfjr djrs gSaA 

3. From the information given below, calculate the 

following ratios :  

(a) Stock turnover  

(b) Receivables turnover  

(c) Acid-test ratio  

(d) Current assets turnover  

(e) Average age of receivables (in months)  

 A Limited 

(`) 

B Limited 

(`) 

Annual sales   10,00,000 12,00,000 

Percentage of gross profit 

on sales  16% 15% 
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Average stock  70,000 1,70,000 

Current liabilities  80,000 1,20,000 

Current ratio 250% 300% 

Stock (closing) 60,000 1,20,000 

Bills Receivable (closing)  1,20,000 1,60,000 

uhps nh x;h lwpuk ls fuEukafdr vuqikrksa dh x.kuk  

dhft, % 

¼v½ LdU/k vkorZ  

¼c½ izkI; vkorZ  

¼l½ rjy vuqikr  

¼n½ py lEifŸk vkorZ  

¼;½ izkI; dh vkSlr vk;q ¼ekg esa½ 

 ,- fyfeVsM 

¼`½ 

ch- fyfeVsM 

¼`½ 

okf”kZd foØ; 10,00,000 12,00,000 

foØ; ij ldy ykHk dk 

izfr’kr 16% 15% 

vkSlr LdU/k 70,000 1,70,000 

pkyw nkf;Ro  80,000 1,20,000 

pkyw vuqikr  250% 300% 

LdU/k ¼vfUre½ 60,000 1,20,000 

izkI; fcy ¼vfUre½ 1,20,000 1,60,000 
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4. The following details related to the two machines X 

and Y :  

 Machine X 

(`) 

Machine Y 

(`) 

Cost  56,125 56,125 

Estimated life  5 years 5 years 

Estimated salvage value  3,000 3,000 

Annual income after tax 

and depreciation :  

  

     I year   3,375 11,375 

    II year  5,375 9,375 

    III year 7,375 7,375 

    IV year 9,375 5,375 

    V year 11,375 3,375 

Overhauling charges at the end of 3rd year ` 25,000 in 

case of Machine X. Depreciation has been charged at 

straight line method. Discounting rate is 10%. Present 

value factors at 10% for five years are :  

Year PV factor 

I 0.909 

II 0.826 

III 0.751 

IV 0.683 

V 0.621 

Using present value method, suggest which machine 

should be chosen.   
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fuEukafdr fooj.k nks e’khuksa ,Dl (X) vkSj okbZ (Y) ls 

lEcfU/kr gS % 

 e’khu ^,Dl* 

¼`½ 

e’khu ^okbZ* 

¼`½ 

ykxr 56,125 56,125 

vuqekfur thou dky 5 o”kZ 5 o”kZ 

vuqekfur vo’ks”k ewY; 3,000 3,000 

dj ,oa kl ds i’pkr~ 

okf”kZd vk; % 

  

   izFke o”kZ 3,375 11,375 

   f}rh; o”kZ 5,375 9,375 

   r`rh; o”kZ 7,375 7,375 

   prqFkZ o”kZ 9,375 5,375 

   iape o”kZ 11,375 3,375 

e’khu ^,Dl* ij rhljs o”kZ ds vUr esa vksojgkWfyax pktsZt  

` 25]000A lh/kh js[kk i)fr ls kl dkVk x;k gSA dVkSrh 

nj 10% gSA 10% ij ik¡p o”kksZa ds fy, orZeku ewY; dkjd 

gSa % 

o”kZ orZeku ewY; dkjd 

izFke 0.909 

f}rh; 0.826 

r`rh; 0.751 

prqFkZ 0.683 

iape 0.621 

orZeku ewY; jhfr dk iz;ksx djrs gq, lq>kb, fd fdl 

e’khu dks pquuk pkfg,A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain the objectives of working capital management.  

dk;Z’khy i¡wth izcU/ku ds mn~ns’;ksa dh O;k[;k dhft,A  

2. What are the advantages of preparing a Cash Budget ?  

,d jksdM+ ctV dks rS;kj djus ds ykHk D;k gSa \ 

3. The Profit and Loss Account balance in Balance Sheet 

of 2013 is ` 16,000. It has been ` 13,000 in the 

Balance Sheet of 2012. During the year 2013 ` 2,000 

was transferred to General Reserve and ` 3,000 paid as 

interim dividend. Profit and Loss A/c for the year 2013 

was debited with the following items besides other 

items :  

                              ` 

Depreciation  4,000 

Loss on sales of machine  2,000 

Goodwill written off 1,000 

Find out profit from operations.  
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o”kZ 2013 ds fpV~Bs ds ykHk&gkfu [kkrs dk ‘ks”k ` 16]000 gSA 

2012 ds fpV~Bs esa ;g ‘ks”k ` 13]000 jgk gSA 2013 ds nkSjku 

` 2]000 lkekU; lafpr esa gLrkUrfjr fd;k x;k vkSj  

` 3]000 vUrfje ykHkka’k ds :i esa pqdrk fd;k x;kA vU; 

enksa ds lkFk ykHk&gkfu [kkrs dks fuEufyf[kr enksa esa MsfcV 

fd;k x;k gS % 

                                ` 

kl 4,000 

e’khu dh fcØh ij gkfu  2,000 

[;kfr dk viys[ku  1,000 

lapkyu ls ykHk Kkr dhft,A  

4. The following data are obtained from the records of A 

Ltd. :  

 Year 2015 

(`) 

Year 2016 

(`) 

Sales  80,000 90,000 

Profit  10,000 14,000 

Calculate break even point in `. 

, fyfeVsM ds vfHkys[kksa ls fuEukafdr lead izkIr fd, x,  

gSa % 

     o”kZ 2015 

    ¼`½ 

   o”kZ 2016 

  ¼`½ 

foØ; 80,000 90,000 

ykHk 10,000 14,000 

mRiknu lhek Lrj fcUnq ¼le&foPNsn fcUnq½ ` esa Kkr 

dhft,A  
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5. Distinguish between „share‟ and „debenture‟.  

^va’k* ,oa ^_.ki=* esa vUrj Li”V dhft,A  

6. Explain the sources of short-term finance in India.  

Hkkjr eas foŸk ds vYidkyhu lzksrksa dh O;k[;k dhft,A  

7. What are the consequences of over-capitalisation and 

under-capitalisation?   

vfr&iw¡thdj.k ,oa vYi&i¡wthdj.k ds ifj.kke D;k gksrs gSa \ 

8. What do you understand by Capital-gearing ?  

iw¡th feyku ls vki D;k le>rs gSa \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the right option : 

lgh fodYi dk p;u dhft, %  

1. Which one of the following is not a long-term source 

of financing in a company form of business ? 

(a) Debenture capital  
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(b) Preference capital  

(c) Retained earnings  

(d) Bank cash credit  

fuEufyf[kr eas ls dkSu O;olk; ds dEiuh izk:i gsrq 

nh?kZdkyhu foŸkh;u lzksr ugha gS % 

¼v½ _.ki= iw¡th 

¼c½ iwokZf/kdkj iw¡th 

¼l½ izfr/kkfjr vk; 

¼n½ cSad udn lk[k 

2. Wealth maximization means maximising which of the 

following ?  

(a) NPV 

(b) Profit  

(c) IRR 

(d) Growth  

/ku dks vf/kdre djus ls vk’k; fuEufyf[kr eas ls fdls 

vf/kdre djuk gS \ 

¼v½ ,u- ih- oh-  

¼c½ ykHk 

¼l½ vkbZ- vkj- vkj- 

¼n½ laòf) 
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3. The financial statement that provides financial position 

is :  

(a) Income statement  

(b) Cash flow statement  

(c) Funds flow statement  

(d) Balance Sheet  

foŸkh; fLFkfr dks iznku djus okyk foŸkh; fooj.k gS % 

¼v½ vk; fooj.k  

¼c½ jksdM+ izokg fooj.k  

¼l½ dks”k izokg fooj.k  

¼n½ vkfFkZd fpV~Bk  

4. Which one of the following is not an absolute liquid 

asset ? 

(a) Cash in hand  

(b) Bills Receivable  

(c) Cash at bank  

(d) Short-term securities  

fuEufyf[kr esa ls dkSu iw.kZr;k rjy lEifŸk ugha gS \ 

¼v½ gkFk esa jksdM+ 

¼c½ izkI; foi= 

¼l½ cSad esa jksdM+ 

¼n½ vYidkyhu izfrHkwfr;k¡ 
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5. A highly geared company exposes to :  

(a) Business risk  

(b) Inflation risk  

(c) Financial risk 

(d) Interest rate risk  

,d mPp iw¡th feyku ¼fx;fjax½ okyh dEiuh esa gksrk  

gS % 

¼v½ O;kolkf;d tksf[ke  

¼c½ LQhfr tksf[ke  

¼l½ foŸkh; tksf[ke  

¼n½ C;kt nj tksf[ke  

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k, %  

6. Ratios are calculated from past records.  

vuqikr Hkwrdkyhu vfHkys[k ls x.kuk fd, tkrs gSaA  

7. Working capital is the excess of total assets over total 

liabilities.  

dk;Z’khy iw¡th dqy lEifŸk;ksa dk dqy nkf;Roksa ij vkf/kD; 

gSA  

8. The aggregate of operating ratio and net profit ratio is 

equal to 100.  

lapkyu vuqikr vkSj ‘kq) ykHk vuqikr dk ;ksx 100 ds 

cjkcj gksrk gSA  
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9. „Fund‟ is not effected by conversion of equity shares 

into debentures.  

lerk va’kksa ds _.ki=ksa eas ifjorZuksa ds }kjk ^dks”k* ij izHkko 

ugha gksrk gSA  

10. Stock market is also called secondary market.  

LdU/k cktkj dks f}rh;d cktkj Hkh dgk tkrk gSA  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

BC–12  


